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COMMERCE

(Honours Core)

Paper : COM-HC-602¢
(Indirect Tax Laws)
Full Marks : 80
Time : Three hours

The figures.in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
Answer the following.questions as directed :
1x10=10
RORIpIR woie fral eraiRe Ted sl ¢
(a) VAT is a type of i iax)

(Fill up the blank with appropriate word/
words)

VAT 25 §F 4R/ |
(Goge W el I2 7979 )

Contd.



(b)

(d)

(e)

RS w oS thelfissia coun tny to
introduce Value Added Tax System.

(Fill up the blank with appropriate word/
words)

__Eaﬁwwmﬁmwwm@—
T4 IRZR TG TR |

(CR& 27T <7 HT 279 F)

Central Excise dl_ity is levied and

‘collected by

(Fill up the blank with appropriate word/
words)

@@ﬂ@ﬁ?ﬁ‘l

\"Jﬁ"{ﬂl
(CAIS 7T ) 912 2479 1)

Excise duty is a form of direct tax.
(State whether this statement is ‘True’
or ‘False’) ‘

SIS U AOF F99 @Bl 7| 73|
(Cfect! &a @ ovm Gy 1)

One of the objectives of the Customs

Act, 1962 is to protect the domestic
industries.

(State whether this statement is ‘True’
or ‘False’)
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T @ e, 1962-9 «6l S (202 =
i afovive <5 T4
(Gfehr & (7 18T G 741)

Prohibited goods cannot be exported.
(State whether this statement is ‘True’
or ‘False’)

w7 s SRk [ S|
(Cf&ehl &% (7 o18% Gl )

IGST stands for Goods and

Services Tax.
(Fill up the blank with appropriate word/
words) :

IGST =& e i il 91

(Goe *ced el 912 999 1)

India is the first country in the world :

to introduce dual GST.
(State whether this statement- s ‘True’
or ‘False’)

ey (202 AT A ol R T A
o Rl 99 oG A |
(Cfechl @5 (7 sTa% Gl 591)

At present, there are three tax slabs
under GST for goods.

(State whether this statement is ‘True’

or ‘False’)

Contd.
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TS, TS AE GST-F ST 7o TSR] F9-2199
W9 G | _
(Gl &% (o S GEs 391)

GSTIN is a digit alpha-numeric
number.

(Fill up the blank with appropriate word/
words)

‘GSTIN’ (22 9o oEg MR
T (CoHAYE *c7eT 4T 912 279 F1)

Answer the following questions : 2x5=10
weTe il eeales T ol 8

(a) What is VAT ?

(b)

(c)

VAT & 232

What is the meaning of ‘Factory’ under
the Central Excise Act, 1944 ?

(T SRBIK B2, 1944 -7 QTS TS
w1l 5 7o

What is the meaning of ‘Manufacturer’
under the Central Excise Act, 1944 ?

(Y SRR W2, 1944-3 o “Seiva-
T9Y 5 279
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(d) Write any two objectives of
' implementation of GST in India. -

OlgeqE© AWM RS Gl T G I
R wo7 S i |

(e) What is the meaning of ‘Refund’ under
the GST Act?
GST iz e ‘sifpeii-3 o e 2a2

Answer any four questions : 5x4=20

et sife5) epss Ted ol ¢

(a) What do you mean by excisable goods ?
SR TR B JerE 7 g

(b) Explain the meaning of ‘Anti-dumping
Duty’ as per Customs Law.
- 2 Wﬁ% ‘Anti-dumping Duty’-
7 oie IRy =

(c) Describe the various types of tax under
Dual GST.

e AN S G P97 SRS AT e
olpiaE 98 991 T4
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| ' dure for
(d) Explain the threshold limits for (c) Explain the custom proce

registration under the GST Act. import of goods in India.

GST ST2eF ST AT T (e T S e S I A T SFE S
BRI
sfe Gy T |
(e) Briefly explain the persons who are not - istory of
] o | : thie " history
liable to registration under the GST Act. & (d) Briefly explain d Services Tax
GST Wi w1T® *Iia wRq el feomens. | introduction ol GeotSaR
SIS IRT = | ! ' in India. ¥
: ' p P mmw@i\gqi:lﬁsﬁﬁs
(f)  Briefly explain the advantages of GST. ... - Wﬂcﬁm
to the consumers. ' : gy B
"@"TC@@WW?T@ GST-QFJ%WBWWW @ Briéi:iy explain the salient features of
| ; €)= ;
b : : Goods and Services Tax.
ENR)
: < @RHER T
4.  Answer any four questions - 10x4=40 \_é,} % sfef) o O FE A
€ : :

Ricplzar sifby oHiq T fae) 2

(@) Briefly describe the history of indirect"
taxes in India.

SIS AT 9 320 5 3o

4|

Explain the procedure for registration
X .
unchier the Goods and Serwces TaxAck:

oy Sife G < SR SIS AR T
9{ =

f 27} 4l |
(b) Explain the basis of valuation of TR - objectives of
petroleum products for levy of excise (g) Explain any five
R introduction of VAT, St
AR R — (IS TrITETS T oRET A Al ST T <
PPI TEURR ofes ayregy amy v
Contd.
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(h) Explain the following terms as per the
Customs Act, 1962. 5x2=10

(1) High Seas
(2) Territorial Waters

A &% SN2, 1962 P SoTo WAl =[S
(G B¢

(1) T @
(2) Sl T
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